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Time: 1Hour] [Max{Marks: 30
I nstructions tothe candidates: {
1) Attempt guestions Q1 or Q2, Q3 or Q4. 2

~

2) Draw feat & labelled diagrams wherever necessaryg 7

3) Assume suitable data if necessary. 7,
4) Elgures to the right indicate full marks. ﬁ
R
Q1) @ *What istime complexity? Why asyrﬁbtot{c‘%otationsareimportant? Find
time complexity of following cod?usi ng step count method. [6]
int x =0; X\~
L I
for (i =0; i <N; i++) N
N~
for  =N; j >4 j&)
{
X =X + I+
}
}
b)-.. Write pseudocode to find factorial of a number. Dfawy the flowchart for
the same. [9]
¢) * Explainwhat isLinear and non-linear datastructure with example.  [4]
OR
Q2) @& Writeshort noteon : [6]
ADT

Divide and conquer method.
b) What is meant by time and space complexity? Explain the asymptotic
notations used for time complexity? [9]

PT.O.



Q3) g

b)

Q4) g

b)

Explain what is static and dynamic data structure with example. [4]

What is Row Magjor and Column Major Representation? Explain with
example. Write the formulato find any element A[i][j] in row major and
column major representationsof A. [6]

What ismeant by sparse Matrix?Write an algorithm to perform addition
of two sparse miairiCes. [5]

Explain withiexample how single variable polynomia can berepresented
using 1-B. array? What is advantage and disadvantage of«this
representation? [4]

OR

What isthedlifference between simple and fast transpose o% Sparse matrix?
Write an'algorithm to find simple transpose of sparsematrix. [6]

Writean algorithm to find addition of two sing[feslariable polynomials
usiihg array. Polynomial term consists of coefﬁ‘ci ent and exponent and
both are stored as an element in array. A e terms are arranged in
descending order of exponent. Stit’éli me:gomplexity of thesame. [5]

Draw and explain following terxms: N [4]
2D Array 4 N
N
3D Arr -
i ./( /
0.9
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